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SetID:13B Jail Warder, Constable Mounted Police and Fireman_20-12-2020 Batch01 (10 AM to 12 PM)
Exam Date Exam Time Version
20 Dec 2020 10 AMto 12 PM B
Answer Key
1 B 31 C 61 C 91 D 121 B
2 C 32 B 62 C 92 B 122 B
3 D 33 D 63 B 93 B 123 D
4 B 34 A 64 A 94 B 124 C
5 B 35 C 65 B 95 D 125 D
6 A 36 B 66 B 96 D 126 C
7 A 37 D 67 C 97 B 127 D
8 A 38 A 68 A 98 D 128 A
9 C 39 D 69 C 99 C 129 B
10 B 40 C 70 A 100 B 130 B
11 D 41 A 71 D 101 A 131 A
12 A 42 A 72 C 102 C 132 D
13 D 43 B 73 C 103 D 133 B
14 C 44 C 74 D 104 C 134 C
15 B 45 D 75 D 105 C 135 C
16 B 46 D 76 A 106 D 136 C
17 A 47 B 77 D 107 A 137 D
18 B 48 D 78 A 108 A 138 B
19 C 49 B 79 B 109 D 139 B
20 D 50 A 80 A 110 B 140 C
21 C 51 D 81 C 111 D 141 C
22 A 52 C 82 A 112 C 142 B
23 C 53 A 83 C 113 B 143 A
24 A 54 B 84 C 114 D 144 C
25 B 55 A 85 C 115 A 145 B
26 C 56 D 86 A 116 B 146 A
27 D 57 A 87 C 117 C 147 B
28 D 58 C 88 C 118 D 148 C
29 A 59 C 89 C 119 B 149 B
30 C 60 A 90 C 120 C 150 C
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Section 1 - General Hindi

1) o o AR Sttt QEEhT el (2T TT?

C)zq
A) T 1955 D) 3
B) & 1962
C) 11965 6) ¥ 2019 # '=me wFaTe fae st o
D) 72000 A) ATRRT ot
B) e St
2) Feforfea & & wiF-a7 faweT o2 &iiv 376 C) AT FTferaT
e orsg fiY ALY T AL 87 D) Tz TRt
A) T - famr
B) =af® - wfy .
7) Faferfea § #19-97 o%8 a9 g2
C) &g - S
A) TSI
D) 3T - 4T
B) =g
C) #a=
3) e & & wi=-aT B wreaeg T TE 22 D) 3T
A) FEATITAT AT ST
5 .
) BT ST fifE 8) ATFT H FTH T ATl I FIT Fgd 22
C) uf=q sifamraw =g
A) FaT
D) e a1
B) YT
C) =
4) 'TFIE, e, A R AT e 27 D) fir
A) T
B) Wz 9) fReferfera arr & sru @reft T  forw wgt
SREL = AT -
. e dAreT?
D) T
A) TAT
. B) SO+
S)Twﬁm@?ﬁ’em%ﬁtaﬁ C) Frer
9Te -
IR LT oY AT AT D)z
A) e
B) sr-amT
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10) TEITTH FUATH 1 ITehT 3 T=AT & o0

T rEedT TYfa av T Y& T T

A) fa=Te &7 3 a

B) dfe=T ==

C) H%fd : a=ed 3 afairy

D) ST FTAT I il : Fe 1€ il FHadr T AT
quT

11) FATRTTR 3T 3 Tt o el 12 % Ao fir

EEAEIC IS

A B
REsEEAREE I 3, &1 4 & AT T
2, T 2T ¥ b, AT T
3, 77 T A e C. AL 71 29 G0 A &
4T T (. T 0 7 T A1

A) 1-d,2-¢,3-b,4-a
B) 1-c,2-a,3-b,4-d
C) 1-b,2-a,3-c,4-d
D) 1-a,2-b,3-c,4-d

12) 'far 1 faem e g -
A) =gfa

B) T

C) s¥

D) &I

13) WIS |iAeTT | 22 FTTS Fl AR
ATIT T TSAT {47 737 8, o 7g 9o omfier /gt
z?

14) T 92 79T &1 T979 92, SH F97 Fgd 87
A) =4t

B) &¥0r

C) F

DEEIEES

15) FMofered areramer # STITaTT F13H T4 g7 &

A) 9ITH T =T
B) Us & T =T
C) %t &
D) <Y | 1T

16) Maferiad & & Ggr are il Ig=1 i)
A) § TfEET F I gy =Y g

B) ® Tfa@Te #T TFET =¥ AT

C) & (@ & TFEIL =X FT AT

D) & Tfeam e &l T =¥ A

17) Faforfea & & |5t ar it 7g=1 i)
A) 7g FaT 1 T § 9 S =T 2
B) ag *# ST+ o 47 | ST 2T &l
C) ag T ST+ T # % St 2T &
D) & T ST+ T & &4 St w1 8

18) 'fareft Ter w1 ararater % forw v avde e
FI-AT 872

A) &freft AT
B) faweft
B) wfor <Y )
C) At ©) ’;' ;ﬁ' i
D
D) sTsTIY )
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19) "TgHA" FT HiE fA=ag T FAT5?
A) FEH+IET
B) Fu+3cEd
C) Tg+3IHA

D) FLT+3c8d

20) Fwferfea & & w-a7 @f3 F=sg #1 vF =g
ITTEI 72

A) WET+AST

B) Wi+3Th

C) dT+z®

D) TRI+3THTT

21) Meforfad § :F-A1 TEH-0.8d SITET 1 agt
oo 721 87

A) T - T

B) g% - 211

C) =% - T

D) ATE - TeH

22) gqeft, weeft, g Referted 9 & fas
TATIATHT 9758 572

A) ufeq
= ERL
C) ufr
D) =

C) gar grAT
D) #14 ffrg gAT

24) 't FAT FT AT ATH G -
A) FrHAT

B) SATHLT

C) SRTT+r

D) #ereT

25) 95 IT=ATET § FHIF-A7 GEAT T T T=d
T &7

A) sa BEd i o

B) w&R(T ALt TTfereT

C) o ey

D) § sfiw &

26) == & & forg ATfg et &1 'IH=E 6l wgraai
T HTA-FATTAT LA & [T AT GHAT T2
ERIERIEY

A) o g

B) FATLT qaTT
C) FHe fohelie Tra=rarT
D) Ftig a1ed

27) FRaferfad # F19-97 'S5 F7 934 a8
Tl 82

A) fafe=
23) ‘IIT-ART ZHAT HETaL FT qgl 37 FHT - B) &
A) STETT T C) TreAs
B) gRaTett =T DREIEIR]
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28) Ao § 9.8 9158 HIF-9T1 872 33 — 37 Wi & forw f[em:
A) fae feforfad sq=er F1 e 39 A1 & 7 vt
B) 7= & 3L ZIToTu-
C) Frfahear }
o) iz AT Tt & fag™ qEseor 9% g Taqr Afds

29) TAH I ST T FHT T AT 1 I A e
FTAT HIF-HT T 953 572

A) FLTTA

B) T

C) sTat

DEIEGIR]

30) ATAE, o1, SiqATAT Awterted & & e
TATAATHT 955 872

A) TraTY

B) =%

C) T

D) Y@

31) '§ Wit g SATCHERAT & AGF &2

ST <d & % A2 g9 39 9 al A1 & aug §
S &l AR ATET T 98 St 8l g6 I8
ATAT FIAT AT T HQO7 AT T, g
T TS SE WETUl & Hewdl gl gH dg T
FAAT FLAT AT T feat i e aga s=Er ot
S STTIAT &0 SToreTas 919 o T =T 9T s s
AATAT T FALN Aot | IF I =Afed gs, e
I H ZH 1 Aol Fd| U et ATt oid # saHe
FSAI AT ATAT | TG RAT T AT ST
FATAT g7 TAT ST AT GHTAT AT T ol
AR omaTd # g 27 v wgededt s wteardr
AT o 7 = 7 e B o | s
AT et qrraaaeit gr T4 TSI THARA 0T %
I H TGl a7 g 7o 519 o goga=am o2 & a1 3=
AR & T 9% AT T I9F AW ATE G2
AR 7 399 02T & T FR1 39 U w7 a9
&7 A1 IR A9 q¥ 9RIT q¥ AT ferae &
Tl o Tt 7 et geme % forw e
sreaters qraaaet e stidre & sifaw e &

A) TSI A FE[EWTS % AT Zogwl &1 U ) "re § agd
B) Hrgw=T Ao AT TETAHTSH FFLAE 3T ATeRaTar g1 Tu|
C) ST 2T
D) SATSITST ATHTh 33) 3TIa  fawa § A i ATeET F9 ¥ 98
STT 272
32) "werit 1 TR T AR 2 - A) TS 35 e A
A) TTSE JTET B) SHATS % A=l 1 92T
B) Hrew Treher C) faarsg * A=l &l 4gav
C) FATAL D) i fagTei % qesireor seeft =t &
D) fA¥e a=t TEHL
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34) S[At T |TAT F TRt T AT =T 97
A) ZITHE

B) fae®=

C) THHRA T

D) TTHFwI aHEH

35) aTa | FIA-HT FEAT A Terw TraaadT g1 whi?
A) FATAT & T9T

B) TTHFT TTHEH A

C) FREHT

D) AL grHa«T

36) FETEHTS % HaW H AAH FIT ¢ -

A) T | Fgd AT TZ[FATSIT ATFEATET &1 T )|
B) SETEIHTST *hT EATHAT ZATHE AL« T o
C) aTe # Fg[@HTSt ot srcafers qraaqeft a1 T=m

D) sifaw faei § Sg[EHTS & ATt 4wl a1 o
|

37) % & w=-ar fagm amamd # g G
oT?

INREEEGES
B) TTHEHST qTHE T
C) THHIEA 1T

B)RICES
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Section 2 - General Awareness

38) How much time does an average user spend 38) T&ae a& T2 2020 F AqHAR FAAT | fwq
on social media per day in the globe as per STFRMERAT wia fa= @verer Hifeam 9% fraar a9= =diq

GlobalWeblndex Report 20207 FIAT 72

A) 144 minutes per day A) 144 e gfa o=
B) 110 minutes per day B) 110 fa=e ufa fa=r
C) 100 minutes per day C) 100 fawe wfa fae
D) 162 minutes per day D) 162 fa=e ufa fa=r

39) China's Great Wall Motor Company signs MoU  39) =19 it I afer HIex Fa+T & 9°d & e g

with which Indian State Government to invest T & 71y, $1 fAfems Faa #7= F oo g
$1 billion in the state? A9 (MoU) 9% gearers frar 82

A) Rajasthan A) TSI

B) Punjab B) dsiTer

C) Gujarat C) s

D) Maharashtra D) #eTaTy

40) Grammy Awards are presented for contribution 40) It sraTes Mofafad & ¥ & &= § TNEE *

in which of the following fields? o yae o ST 82
A) Sports A) T
B) Literature B) arfecT
C) Music C) & ifia
D) Medicine D) sirwfer
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41) Which of the following statements is TRUE ..?

41) fReferfera & 3 %19 97 F97 981 8.7
A) After 1947, the Judicial wing of the Board

continued to function at Allahabad, the A) 1947 & 1=, FTE &1 ~ATAF &7 TATEETR | Frd
administrative wing was shifted to Lucknow FLAT BT, Termatas® &5 7 deds eEiaia &7
B) After 1947, the administrative wing of the Board e T

continued to function at Allahabad, the Judicial ~ B) 1947 & T, TS & YeTEH® o1 TATEETE § F1d

wing was shifted to Lucknow FLAT BT, =ATAE &0 #7 qa@qs; seang & 7
C) After 1947, both the wings, the Judicial wing e T

and the administrative wing of the Board C) 1947 & 9T, TS & AT TaT 3fT Tere=® &

continued to function at Allahabad T, TATETETE | FTF FLd

D) After 1947, both the wings, the Judicial wing D) 1947 % a7, a1 T ~AT(A® {3 e gt &

and the administrative wing of the Board shifted AT, T AGAS T e T 97
to Lucknow

42) Which of the following living beings have 42) ffwferfea star & & et I1RE (Fa1se) e

compound eyes? gt 872

A) Dragon fly A) ST HFET
B) Pigeon B) &gaX

C) Frog C) He®

D) Tuna fish D) ZAT Wt

43) 'Prime Minister's Police Medal for Life Saving', 43) fMaferfeaa & & free g ‘shaw wam & oo

is awarded by- TLTARAT T TrorE T8 29 g7 S1ar g 2

A) Ministry of Home Affairs A) T[g HATTT

B) Intelligence Bureau B) Zfersier 5531

C) Bureau of Police Research and C) qiere sTeeT ua o sg2r
Development D) T Zfea qfera wrsgae

D) The Indian Police Foundation
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44) Which of the following forces is one of the 44) Refertad § o I € 47 ST AT 1Ll

important agencies of the Government of India HEAqul TSl | | g, 1982 & ATt SHharer

involved in the successful conduct of the annual ATAHLE ATAT % T HATT § 9T gl ot 872
Kailash Mansarovar Yatra since 19827

A) Assam Rifles (AR) A) 9H =% (AR)

B) Central Reserve Police Force (CRPF) B) #&a fra qfere a1 (CRPF)
C) Indo-Tibetan Border Police Force (ITBP) C) ATa-fsaa €91 qferd a1 (ITBP)
D) Home Guards D) g eH

45) Which of the following is the specialised wing of 45) CRPF =1 fRwforfea # & ag &= a7 faew & g
the CRPF that was set up to deal with riots and riot ST &3 3fi¥ & St Rurfa= & foew % o a9 =

like situations?

q77?
A) Central Industrial Security Force (CISF) A) FET ARITRIE T a1 (CISF)
B) National Security Guard (NSG) B) TTg™ qz&T e (NSG)
C) Home Guards C) g¥ e
D) Rapid Action Force D) ¥fUe s wIE

46) Swaminarayan Akshardham is a Hindu Temple 46) TaTARIET F&ATH TF g Hiay 9RET g S

complex situated in which of the following places of AT & RHferiad T+l ® & Fgl *ua g2
India?

A) Pune A) 01
B) Bengaluru B) s
C) Mumbai C) qa=
D) Delhi D) fawett

47) Quit India Movement 1942 was fought in 47) AT FET Aa@d 1942 HAw@s § g 91 +
Jharkhand under the leadership of which leader? — Fgc@ § =T AT AT?

A) Jaipal Singh A) ST g
B) Choona Ram Mehto B) AT TTH "gdr
C) Ramnath Soren C) THATT T

D) Ram Bhagat D) | 9q
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48) Which among the following rivers of India
derived its name from the Sanskrit word
"Lavanavari" that means salt river?

A) Chambal
B) Banas
C) Mahi

D) Luni

48) 9T #Hi Fwferfed afeat & o fhaehr 9 a@ha
orex "eauTat" 7 foraT o g e o g i a4

A) =ae
B) &=
C) wTel
D) =oft

49) Which of the following mountain passes is 49) F=feifad & ¥ #i9 o7 Tdqd 2T AT & IAEE

located in the Uttarakhand State of India?

A) Kongka Pass
B) Lipulekh Pass
C) Khardung Pass
D) Lanak Pass

50) Which of the following launch vehicles was

used in mission Chandrayaan-2?

A) GSLV MKII|
B) PSLV C11
C) GSLV F11
D) PSLV C45

51) Which among the following countries has built

the world's first floating nuclear plant?

A) India
B) China
C) USA
D) Russia

T § fora 872
A) FRTHT 32T
B) ferera ==
C) @TLaiT a1
D) & =<1

50) ot ® & %19 97 Aivd aTgd (99" F5a74-2
T I Rt T O

A) GSLV MKIII
B) PSLV C11
C) GSLV F11
D) PSLV C45

51) Feaforfaa & & o Tor 7 AT &7 Jo| qwar gen

qTHTI] &I FATIT 52

A) ST
B) =i+
C) sTufT

D) =4
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52) Addition of salts facilitates melting of ice during 52) EEaT & ST a9 § THE STAT T T THAT AT

winter, as it- g, FITH?

A) Increases the freezing point of water on the A) % #it @dg T¥ qT+1 * i fag Fr agrar g
surface of ice B) ath ¥ Tg¥ e¥ Hisg I % fRat foig # v aw

B) Lowers the freezing point of water present FATE
deep inside ice C) o #t ag ¥ art F Fuiw fag 1 F#7 Fear 2

C) Lowers the freezing point of water on the D) FOHT Ieqel T ATl TTHT 3 AU[AT Y it Foti b

surface of ice TEATE

D) Increases the kinetic energy of the water

molecules which generates heat

53) Where is the Central Institute for Research on 53) FUTH W=INIRT 9T TAHLTT & 0 Fxiq FeAH

Cotton Technology located? Tl *ad 872
A) Mumbai A) Hag

B) Nagpur B) AT
C) Delhi C) faeeht

D) Jaipur D) S@qX

54) Read the following statements and choose the 54) fasferfera Faet i1 92 =iv @t fwew )
CORRECT option.

(i) The chola dynasty was a Tamil dynasty that (i) =Ter 39T U qiee TrsTaer 9T o 13 &1 orareat a&
ruled primarily in southern India until the 13th & &9 & feror A2 § ame+ =T M|

century. (ii) 7g FTT FT FHF T AT =TSN H I g AT
(ii)This chola dynasty originated in the rich ganga
river valley.
(i) 7T & 3 (i) 7T 2
A) (i) is TRUE and (ii) is TRUE (i) Tat g 3% (i) T g
B) (i) is TRUE and (ii) is FALSE C) (i) a8 ST (i) TEr &
C) (i) is FALSE and (ii) is TRUE D) (i) &1 g 3 (ii) T g

D) (i) is FALSE and (ii) is FALSE
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55) Who among the following appoints the Prime 55) R&feriad & & 9 9=a & TeT9 HAT Al HgRR
Minister of India? FLAT 872

A) President of India A) AT F TP

B) Chief Election Commissioner of India

B) WA % {&T qATH ATH
C) Comptroller and Auditor General of India C) 9T e sfiv wgreraT Tders

D) Chief Justice of India D) AT % q&T ~raneter

56) How many members are there in the National 56) Tg@ ATl sMaRT (NHRC) # fraw @=gex

Human Rights Commission (NHRC)? T E?
A) 2 A) 2
B) 4 B) 4
C)8 C)8
D) 9 D) 9

57) For administrative convenience, how many 57) Semafas gfaer & forg, SO y=or w7 & fha
divisions are present in the state of Uttar Pradesh? #E HIs[g 27

A) 18 A) 18

B) 22 B) 22

C) 28 C) 28

D) 14 D) 14

58) What is the Chinese currency called? 58) ST T T FIT Fgl SATAT 52
A) Dollar A) St

B) Rupee B) =qaT

C) Renminbi C) Yferelt

D) Pound D) a3

Page 12 of 43

Downloaded From : www.sforstudy.in



Downloaded From : www.sforstudy.in

SetID : 13B Jail Warder, Constable Mounted Police and Fireman_20-12-2020 Batch01 (10 AM to 12 PM)

59) Which chemical is responsible for the green 59) FI &T THTAA, sMTqeTaTST T&fd FLd THT gL T

colour in firework displays? F foro e 872
A) Strontium carbonate A) TIFIH FTETHE
B) Sodium nitrate B) Mifeay ATz
C) Barium chloride C) aR=w e
D) Copper chloride D) FiUT FARTEE

60) Which of the following term is related to an 60) e & & #i= 4T orex, =Ty $HA & Hafaq

unsolicited email? 27

A) Spam A) T

B) News group B) == 99
C) Backbone C) a%a=
D) Updates D) srueed

61) In the Government of India, during January 61) 9@ H¥&E §, S9a<t 2020 & IO, ATOST 3
2020, the Minister of Commerce and Industry is IR 73T &l T 972

A) Smt. Nirmala Sitharaman A) et AT Hrareor
B) Shri Dharmendra Pradhan B) =t a¥fw werm

C) Shri Piyush Goyal C) =t W =T

D) Shri Prakash Javadekar D) =T SahTeT STaeahe

62) How many trophies will be presented to the 62) CAPFs/CPO % ‘HI4S IfeTd TTLTeqor §eTa1 %
winner of the 'Best Police Training Institutions' of ~ fasrar =T Wi a9 fera=it 2Tt J&T= it STt € 2

the CAPFs/CPOs every year? (Abbreviations carry  (Sferd &7 sta+ aqT=T 37 § TR f361 710 &)
their usual meaning)

A) 5 A) 5
B) 2 B) 2
C)3 C)3
D) 4 D) 4
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63) Which of the following is the most recent core

63) 2010 F T AN g AAMAH FHT AT

international human rights treaties that entered into  aTaTieER @far Rerferfea & T #9 #f g2

force during 20107?

A) Committee on the Rights of Persons with
Disabilities

B) Committee on Enforced Disappearances

C) Committee on Migrant Workers

D) Committee on the Elimination of Discrimination

against Women

64) What is the currency of Armenia called?
A) Dram

B) Gram
C) Dollar
D) Rupee

65) India has chosen the dual model of GST from
which country?

A) UK

B) Canada
C) USA

D) Japan

66) Which of the following dates is observed as an

International Day of Peace?
A) 15th September
B) 21st September
C) 2nd September
D) 28th September

A) e sfeat % srferamel o aiuf

B) TrhIFe RHUCET 9T g T

C) et st u afafy

D) AigaTel % fowg AgaTd % S+gad ¥ qrHid

64) AT T ET FT AT T ST 22
A) 58
B) I
C) sfeT

D) =41

65) AL 7 SfY UH & (GST) F IgL AiS &l fhd a7 o
ESLE

A) T F

B) FATST

C) st

D) ST

66) Feferfaa & & form ai &1 siaeig onifa fGaw
*F ®T H HATIT STAT 872

A) 15 fodax
B) 21 frdax
C) 2 ford=x
D) 28 f&rdew
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67) Match the officials during the reign of emperor

Akbar in List | with their corresponding duties

assigned in List Il.

67) TAT | 7 T T e % emEAER & et
SrterRTi 7 9= | ° 3w 0 39k gaferd wdeat |
e 4

List | List Il
(a) Wazir (i) In charge of the =T | T=T I
imperial household B EEIE (i) oTTeT TfET T TATE
(b) Mir Bakshi (ii) Head of judicial b) HIT a=eft (i) =T AT & THE
department

(c) Mir Saman (iii) Head of the military
department
(d) Chief Qazi (iv) Head of the revenue

department

A) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)
B) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
C) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
D) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

68) What do you mean by 'chakbandi'?
A) Consolidation of land

B) Consolidation of property

C) Consolidation of family

D) Consolidation of tax

69) What is the size of a 2000 rupee note in Indian
currency?

A) 55mm x 160mm
B) 60mm x 166mm
C) 66mm x 166 mm
D) 66mm x 160 mm

(
(c) T aa=T  (iii) &7 ForamT =1 @
(d) @ FISIT (iv) TTed T &7 i@

A) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)
B) (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
C) (a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
D) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

68) 'Thaval T ATTHT FAT ATTATT 872
A) ST T TR

B) ®of<y &7 Wehrsheor

C) uf¥aTe T ThrHTor

D) ¥ T THEHA

69) AT T & 2000 FTF I FT SATHIT FAT 572

A) 55mm x 160mm
B) 60mm x 166mm
C) 66mm x 166 mm
D) 66mm x 160 mm
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70) Which among the following are called as
Shiksha Mitras?

A) Teachers for primary school
B) Teachers for science college
C) Teachers for arts college

D) Teachers for middle school

71) Cultivation of grapes is usually known as

A) Sericulture
B) Aviculture
C) Moriculture

D) Viticulture

70) forear fo=y Mefertera & & forer gt SiTaT 872

A) ratae fEemer % forw forers
B) fa= wetfa=mer & forw forers
C) FeT gTia=me & foru forer
D) greatas e & forw forears

71) 3R T GeAT AT ATHATE T FAT FHigl AT 872
A) TfFeaT
B) THtFeaY
C) Hr{ishea<
D) fadiseat

72) Which of the following functions initially, in year 72) sis # Rerforfad ® & &9 91 w14, 99 1831 #,

1831, was exercised by 'Board of Revenue, Uttar

Pradesh' was removed during 1932-357

A) Collection of Rent, Revenue and control over

collection staff
B) Administration of Revenue laws

C) Work regarding Court of wards

D) Settlement operations

TISTEd ITue, 3T T 51T 9 fohar srar o7 o
1932-35 & I+ geT T 13m o1?

A) BRI Fet, TroTe et S agET FHETRET 0T
=TT

B) TTSTEd AT T TATHA
C) FIE AT ATSH & Haferd wr

D) SEraedt HaTed

73) Which of the following corporation has signed a 73) fRwrferfera & & for Ao & 9 2019 & 27 1600

contract agreement with Nepal's Department of

Railways to supply two 1600 HP DEMU train sets
in May 20197

A) Rail Vikas Nigam

B) Indian Railway Construction Company Limited
(IRCON)

C) Konkan Railways Corporation Ltd
D) RailTel Corporation of India

T=dT E2UHT (HP DEMU) 3 He T g #%d &
T F9Te % Y foranT & 97 ey qWHIT 97
geareT ham?

A) ¥ e e

[N Nl e

B) few+ ¥orar segeer FuAT ferfées (IRCON)
C) FIH0T LA FHIATI erfies
D) Yoee FHIATLer ATE S=AT
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74) Name the neighbouring nation of India with
which India and Japan signed an agreement to

jointly develop the East Container Terminal in May
2019.

A) China

B) Bangladesh
C) Maldives
D) Sri Lanka

75) The Salt March led by Mahatma Gandhi
against the British was held between which of the

following places in India?

A) Bhavnagar to Dandi
B) Junagadh to Dandi
C) Rajkot to Dandi

D) Ahmedabad to Dandi

74) AT % 3T TEET 39T T ATH qAT2T (STHh 91
AT T ST 7 T2 2019 § $e e i &l
Tk =9 7 fawaa e o o us awsita uw gearaw
ey

A) ==

B) i eTRer

C) ATerda

D) =freierT

75) A & Aetatga & & & st % d= g8

TiefT % Aqc § SRS & fGwg T9E "rH A
T AT?

A) ATIRIE | TET
B) S[ATWIE & &ier
C) TSThIE & it
D) AgHeTaTR | FieT
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Section 3 - Numerical Ability

76) A spacecraft travels 6,625 km in 2 hours

20 minutes and further it travels 824 kms in 40

76) T 3fqfeer a1 2 "< 20 fAwe # 6,625 T, fir
IqTAT FAT & AT T8F 18 T 40 fBee o 824 fodt. smr

mins. What is the average speed of the spacecraft? azar g1 idf¥er a1 Y s Tfa = gefi?

A) 2,483 km/hr
B) 3,154 km/hr
C) 3,256 km/hr
D) 4,125 km/hr

77) A lift can carry only 6 people with an average
weight of 65 kg each. If the average weight of
5 people in the lift is 67.2 kg, then what can be the

maximum weight of the sixth person?
A) 55 kg
B) 64 kg
C) 60 kg
D) 54 kg

A) 2,483 ffy. uf =i
B) 3,154 faHT. wfa =ie
C) 3,256 frft. wfa =
D) 4,125 foret. wfa =i

77) U foree T 65 ToRIT & i |d AT % Fad 6 ART
T o AT TRl g1 TS 39 forde & 5 ART T 39 A
67.2 foFIT 8, a1 =5 =ik &7 srtershay 9w fhaar gt
TRAT 87

A) 55 T
B) 64 f&uT
C) 60 fFuT
D) 54 T

78) Which salary increase option should a person 78) stfasaw aa= & forg et =af<r =1 e aaw 3t

choose for maximum salary?

a) 10% increase in salary every quarter

b) 40% increase in salary every year

A) a
B) b
C) Both are the same

D) Depends on the salary

FTer forered &1 AT ATRT?

a) g TATer & aa7 7 10% #7 35
b) ¥ AT Fa< & 40% #FT g5

A) a

B) b

C) T A1 &

D) a9 9% A% At 8l
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79) The salary of an employee first increases by
50% and there after decreases by 54%. What was

the overall percentage change in his salary?
A) 4% increase

B) 31% decrease

C) 31% increase

D) 4% decrease

80) Area of a circle with radius 'p' units is
A)  p? sq. units

B) 2 n p sq. units

C) n p sq. units

D) ZERO

81) The total weight of the silver coins with 'A' is 63
grams and that with 'B' is 77 grams. If the weight
of the silver coins is an integer and is the same for
all the coins, then what is the minimum number of
coins with 'A' and 'B' together?

A) 14

B) 11

C) 20

D) Can't be determined

82) Which of the following is a mixed number?

3
A) 2=
8

il

B)

C)

wi| b

D)?r
2

79) TR FHATT & Aa9 T8 50% F&aT g T 396

T 54% = ST gl 39% da9 § IREdd w1 T
staera fraer =m?

A) 4% 3fz
B) 31% FHT
C)31% I
D) 4% FHt

80) 'p' A= BT AT T FT &AFA &
A) T p* 7 IfHE

B) 2 1 p & e

C) mp 7 e

NER

81) ‘A’ % 9TH 63 UTH I a1l ATl F &k ¥ ‘B’ *
ITE 77 UTH T AT ATal 6 (Oeh g1 Tia =far & gt
T a5 QORI ¥ g i a9t [t & forg &\ g, ar ‘A’
T ‘B’ o ITH UF a7 FH-H-FH Foha« f&err g2

A) 14
B) 11
C) 20

D) et =1 o ST |kt

82) zH o Fiw fufera e 272

C)

B~ Ly pa ool

>
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83) What is the value of the given expression?

ql NEED
A) 3‘3‘[!'
1
B) 3%
1
C) 3w

D) 33[!'

84) For what value of k the system of equations
2x + 3y = 5 and 4x + ky = 10 has infinitely
many solutions?

A1l

B) 3

C)6

D)0

85) If

- denotes multiplication,
x denotes addition,

+ denotes division and

+ denotes subtraction,
then, what is the value of the following expression?
40%x12+3-6+60

A) - 44
B) 7.95
C) 4

D) 482.9

83) faT U =Stk FT AT FohadT 87

84) k = e A7 o forw eteReont it yorrett
2x + 3y = 5 3T 4x + ky = 10 ¥ HH &7 ¥ F%

qHTYTT 57
A) 1
B) 3
C)6
D)0

85) afe

- 7 &7 & O,

x T T g T,

+ &7 37 § AT 8w
+ 7 7 g T,

a1 fArferfaa st &1 |41 fohaeT g2
40x12+3-6 + 60

A) -44
B) 7.95
C) 4

D) 482.9
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Section 4 - Mental Ability

86) G walks 20 km towards North. He turns left and 86) G 3<% #¥ Airw 20 f3t. wrerar g1 ag vt i q=ar

walks 40 km. He again turns left and walks 20 km.
Finally he moves 20 km after turning to the left.

How far is he from his starting position?

A) 20 km
B) 30 km
C) 50 km
D) 60 km

87) Select one of the following four options that will
make the second pair analogous to the first pair.
CACTUS : CACSUT :: BUZZER : ?

A) REZZUB
B) UZZBER
C) ZUBREZ
D) UZEZBR

88) Given below is a statement followed by two
assumptions. Choose the answer as-

A, if only assumption (i) is implicit in the statement.
B, if only assumption (ii) is implicit in the statement.
C, if both assumptions (i) and (i) are implicit in the
statement.

D, if none of the assumptions are implicit in the
statement.

Statement:

Chess is a mind game and needs a lot of thinking
to do.

Assumptions:

(i) Viswanathan Anand is the best chess player in
this country.

(i) Anand's strategies in chess are unique.

A) A
B) C
C)D
D) B

g 3 40 fHY. =erar g1 a8 I arft oY qEar g &
20 TrHT. FaT g1 3T | ag ardl AT g2 & a1

20 TrHT. FaT g a8 TUT ST fa & At g
2?7

A) 20 fft,

B) 30 f3.

C) 50 fat.

D) 60 f.

87) faferfera =me faeredt & & ue &1 ==+ fifsm, s
FHLT STTET 0 &1 TS Tl SITST o6 THET a0
CACTUS : CACSUT :: BUZZER : ?

A) REZZUB
B) UZZBER
C) ZUBREZ
D) UZEZBR

88) = T FUT ¥ I8 &l ALY & TS &l I
T TH ®T H AT -

A, T3 F99 | Faer g@emon (i) [fga g1

B, I w7 ¥ Fhae qagmur (i) FiEa g

C, I I # (i) 37 (ii) T TH&TIoMd Hi2q 2|

D, af% Fo9 # 1 g [@UTTy HiRd 981 3l

FAT

S U fumlt @<t § 3T 38 @ & forg stfers |14
=T it srareTRar gt gl

THLTIOMY

(i) freaaTo aie =1 39 F 999y A feerEr 2
(ii) oTaSt ® e it TorifaEt srfaed i g

A) A

B) C

C)D

D) B
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89) What is the next number in the series 89) 23, 28, 34, 41, 49, ? H@AT H ANTTHT HEAT HId-E1
23,28, 34,41, 49, 7? 27
A) 52 A) 52
B) 54 B) 54
C) 58 C) 58
D) 61 D) 61

90) Which one of these meaningful words canbe ~ 90) "MATURITY" 91 o 31&121 T SYANT Fh 340 o
made by using the letters in the word "MATURITY"  &F-AT Ul 9768 FHTAT ST TdT 872

? A) NATURAL
A) NATURAL B) ARMATURE
B) ARMATURE C) ATRIUM

C) ATRIUM D) RITUAL

D) RITUAL

91) Which is the next figure in the series given? 91) & T @AT § ANTAT FHId HA-HT g2 [l : /U
[Note: Choose the right answer from the answer T 39 faswedi (Answer options) ® § Hgl I HI
options given and select an option] TEATHT ST A1 & Aot § 7 3f=ra 3¢ gHAul]

Che @0 (Ob o

ANSWER OPTIONS ANSWER OPTIONS

©e @ O @,

A) b A)b
B) c B) c
C)a C)a
D) d D)d

92) What is the acute angle (in degrees) between 92) 8 PM &S fiqe & §= T =< il g2 & o9 =

the minute hand and hour hand at 8 PM? o7 (F=3fT &) = grm?
A) 90 A) 90

B) 120 B) 120

C) 150 C) 150

D) 180 D) 180
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93) Directions: The question consists of a
statement, followed by two arguments numbered |
and Il. You have to decide which of the given
arguments is strong and which argument is weak.

Statement:
Should Bullet Trains be introduced for the public?

Arguments:

I. Yes. It reduces the travel time thereby saving
time and money.

II. No. It should first need a good infrastructure built
after which the bullet trains can be introduced.

1. Only argument | is strong.

2. Only argument Il is strong.

3. Both arguments | and Il are strong.

4. Neither argument | nor argument Il is strong.

A) 2
B) 3
C)1
D) 4

94) The Venn diagram mentioned here gives a
report of the number of students who participated
in a sports event. There were only 4 sports
conducted in the event. The distribution shows the
number of students who participated in 4 sports A,
B, C and D. Based on the information given in the
Venn diagram, answer the question given below.

How many students participated in the sports
event?

A) 150
B) 140
C) 129
D) 128

93) fAGer : w1 § U A 3T IAqF & qF, | < |l f/w
T E ST A 77 FEAT § £ R s at & ¥ Ae-ar
T TS T FIF-AT T FAA 5

T

FAT AT o oI Foie o7 9= it T ATRT?

ET

. g, TE IATAT % THT Tl HF FLAT g, o 07T 3T o+
#T T g

1. 2T, =7 forT uger UF sr=a1 TREaHaT IHTAT STH1
AT, e 918 goie 241 &l % FFaT ST TaT 2l

1. %@ T | A9 B

2. % a || A9 gl

3. | 3 |l FT T Togd gl

4. F AT T | 3T T & T | 999 2l

A) 2

B) 3

C)1

D) 4

94) 7t faw U 3 s H U ger FiAAriar § 9

AT AT AT it FeAr £ A & T2 g1 37 wiaEar
H FaT 4 T AT FFT T 2| T8 =& 4 = A,

B, C 3T D § WIT &« 3Tl AT sl H&AT I ITaT 2

AT AT | & TS ATAHRTAT 3 A I A1 7w 71

o7 T 3L A1)

T THAITRraT # T v Bt F AT forar?

NN

B i —

g

>

A) 150
B) 140
C) 129
D) 128
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Section 5 - Mental Aptitude

95) Everyday on her way to work Beth sees a
group of poor children near their slum playing
cricket with sticks and a tennis ball while other
children are at school. Beth is single, a part time
worker, comes from a well to do family and works
just to keep herself occupied. What can Beth do to
help these kids?

A) Go and spend some time talking to them.
B) Buy some bats and balls and give it to them.

C) Get her brother to teach them how to play the
game correctly.

D) Spend a few hours during the week teaching

them to read and write.

96) Taking up a job that one is interested in can
help one in achieving which of the following
benefits on the job?

A) If one is earning a huge salary, interest in the

job is likely to be more.

B) If one is working in a reputed company, one is

bound to be satisfied with his job.

C) If one has the need for a job, one will be happy

to remain on that job.

D) If the job matches one's interest, it is likely to

keep one happy on the job.

95) ST9 FTH I¥ ST 1o 9T, g€ o a1 e agi
* TF < T AU TAH F I Feaw T e v zfAe
A GAT T I@AT 8, TATF IH q97 77 I A |
214 €1 9T UH 2, U TS ZTEH T 2, T qeel
TfET & areft € T 979 SO T =9 T@d o o
FLAT g1 T TFI Al GGG HTA o (10 T2 FAT HT Faha T
2?7

A) ITF ITH ST ST 39E J1d Hh g, G877 foar)

B) 3v= & & o7 F& 92 3w aieq @iia|

C) 3TI TS &l |7 o 3T ST v @A HT Tgl a0 T
CEEIREEE

D) 372 & 3i¥ ferear e & fow 9a1e # 7= 6
I Ty faam)

96) T U AT 9T AT o e It &= g, §
Froferfera § o F19-97 ®raer 119 #3949 § 72 Ao
qFAT 572

A) T FIE =T ad9 9TH W@ g, ar |qrwd | &
AT BT T TATAAT 2

B) ofe #re s WATSd ot § 19 ¥ ¥ET &, a7 98
ST AT | HIE AGeT 5l SN

C) =t foreT &1 ATHLT T STaTFHAT &, TN 3T ATl 9T
T T2 H geft g

D) =fE /TaRT foreft it = | 71 =TT €, 97 2eH =9
AT | GLT Y@l sl FH1aT &l
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97) When compared to other cities in country Z,
city 'Sahas' faces serious law and order problems.
Which of the following reasons could be
contributing for such a kind of problem in city
'‘Sahas'?

A) Planned growth of the city

B) Unchecked influx of migrants

C) Lack of disparity in income

D) Increase in employment opportunities

98) Kate is driving along the road when she sees

that a car is trying to overtake her. She notes that
the driver is busy texting on his phone and driving
strangely. Which of the following is an appropriate

action on the part of Kate?

A) Just mind her own business and continue
driving.

B) Try and catch up with the driver, put her

window down and yell at him.

C) Overtake the distracted driver, or slow down

and let them overtake her.

D) Call the police as soon as she notices the man

texting on his phone and report it.

99) Akash, Bharath, Chandu and Damodar are
working together. Akash does not hesitate to say
'No' to new commitments if he knows he cannot
complete it. Bharath accepts all assignments but
fails to complete most of them. Chandu never
accepts new work that requires learning because
he is scared of change. Damodar is overloaded
with work and is always stressed because he is too
scared to reject the work given by his boss. Who

among the four is mentally tough?

97) ST 39T Z % AT "I’ HT TAT I+ 77 MU |
FT SATAT & a7 97T SA7aT § o6 S8 T I e sqae
FT FHEATAT T TTHAT FEAT T2AT g1 AT qIRrE’ | =H
qvg F aaear Feferfa e s & g awdr 22

A) ere¥ 1 At e

B) YaTa=1 T STAA = Taer

C) SATHEHAT | STHATAAT FT AT

D) TSI 3 | § Jfg

98) e STSTAT FT LI g THT a8 <@dl g o U F1e 39

ATTEH FTA KT HITAT FL TGT | 9 7@ o greav

AU I T T FA | ST 8 AT ASte adih o

gTetET ¥ w27 g Fuferfea & & wia- Friars F i

ae T 3T E?

A) T FH T FHF I AT § 3T SIS AT @l

B) FITreT ek ITAT T Tg, ATAT Sl @il 3T
39 9 e

C) &1 Weah gU ST3a< &l sia¥es HY, IT ATAT T
T Y A 3T T e 3

D) SI¥ &t a8 3@ o AT<h o797 A U< (el T W&l
7, IE FT i FL 3l RarE w7

99) TSN, AYd, =g 3T ITHGT Uk AT FH F 73 3l
STRTLT, 3TTY THAAT & 1o g =8 T Aal HL dhdT g ar
TS widagar & forw '9gi' Fgd # ThT A1 FedTl 97
Tt FTHT Tl THRIC FL AAT g AT ITH & TR T
T FA B AR Tgar g1 9g FHT off UH 70w
TATRTT Aol FedT O Hrae 67 saeashar g F9iF 98
TTAT & TLAT g1 ITHIGT I FHIH FHT Ggd AT g 3T
THAT TA19 § TdT g FFITF 9 T+ qriers gy 7o au
HTH I TEATHIL Fled F Fgd SXal gl A H T FlA
ATATHE €9 ¥ 38 87
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A) Damodar A) TTHIET
B) Bharath B) W@
C) Akash C) reprer
D) Chandu D) =g

100) Ramnath is a widower. Ramnath's only son
married an American.Ramnath an orthodox person
finds it very difficult to accept his daughter-in-law.
He is curt and unfriendly to her. This disturbs his
son who deeply loves his wife. He tries to explain
to his father but his father is adamant. In such a
scenario, Ramnath's son is likely to react in which

of the following ways?
A) He is likely to divorce his wife and marry again.

B) He will attempt to keep his father and wife

apart.
C) He will force his wife to respect his father.

D) He will abandon his father and move to

America.

101) Under a democratic set up the police are
allowed to do all of the following EXCEPT:

A) Restrict

cancellation of certain restrictive policies.

public demonstrations demanding

B) Arrest protesters for damaging public property

such as public transport.

C) Resort to negotiation and not intimidation with
people who are protesting.

to

D) Prevent inconvenience

emergency services such as hospitals.

any kind of

100) TTHAT UF g g1 THATT & THA o F T
TR 7 orral T THATT U wigaral =7f7E § 3706
T STt o T TR FEAT aST {1 g1 F 3qh
T =9 3l WL 81 TE ST o9 T G FLdT 8 S
AT TolT | AgE ST F2dT gl g A9 TOqT il a7
FT TN FLAT & AR I TUaT a2 Afzae g &
g1 U8 IRgeT § THATT & O & Aofotaq § 7 &
YL T AT FHleA ol TATAAT 872

A) TZ ATAT TAT FT TATH @ [T T TTET T ThaT gl

B) g I+ TUaT 3fiT T &l STERT-3TeRT @ HT YT
FAM

C) a8 AT Tl &l 7o fUar &1 ¥+ Fa & o
AT M
D) &g o9+ TOdT &l TRT T STHTHT FAT STTUAT

101) T ATRATNF ATEAT % FANT [T Fl

Referfed & & <9 T & R, a9 &1 Fi7

EECITES

A) T TAaaTeT AITAaT HT T FLT 1 7T H0T a1
TSI T2 T TiAatera Fem

B) HTaSII=#® qTRagd STHl ArasiH® Sqi<l & THe
T AT & [olT TRl &l T 2T

C) faZrer T Tl RN &l S & FoI1F ara=id T
TERT T

D) SEqaTel ST ATITARTeA T Farett & aeft T i
F AT T TAFHATI
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102) Preeti whose father is the chief minister of the 102) Sfifa e foaT 57 % qegw =it g i< =1
state and Ranjani whose father is a rich farmer are S foaT U= srefiv foFem=r €, <41 <iea g1 Shfa s
friends. Both Preeti and Ranjani are appearing for ==t i1 farfaer fam odter 3 @&t g1 hfa sz o &
the civil service exam. Which of the following is forT T q e g F Aead # torfaa § 7w v

TRUE to Preeti and Ranjani regarding the e gy €7
examination fees collected from them? A) ifa, Tt g & S e T stee fre T e
A) Preeti pays more fees than the fees paid by FLAT Bl
Ranjani. B) S, TSIt &1 &1 T2 HE | FH K HT A
B) Preeti pays less fees than that paid by Ranjani. FLAT 2l
C) Both Preeti and Ranjani are exempted from C) T 3T TSAT IHT ol BT & & Fe & T gl
paying fees. D) it sfiw IS+ ST &F UFH qETT R FT I
D) Both Preeti and Ranjani pay the same amount FAT Bl
of fee.

103) Rajan's friend celebrates Diwali every year by 103) TIST9 & 1% g¥ AT TS HIZHL (QaTAT HATAT
bursting crackers. He wishes to advise his friend 2| @ 379 II&d &l UAT T FLd il TATg AT AT2dT &
not to do this and he gives him several reasons for 3T a8 IH T2T@ T IS & F2 HILO adl gl FHofeiaq
not bursting crackers. Which one of the following ~ ® & FIH-5 LT & 3TIh! AT g o LTI o Tred 0
reasons do you think would help Rajan's friend to 92T g1 ®IEH &1 79 a9T9 | 7 Heri? 78 ...

make up his mind to not continue bursting loud

crackers? It ... A) A &1 T4 arer auft FIT 7 91 34T 2l
A) .kl||S all the .|nsects that live among ys. B) AT T & F o Freft o o A1 R AT
B) is your choice to celebrate any festival how you 5

want. '

C) is an Indian tradition and we should follow all C) TF WA T 2 o7 2 oy Fey et
our traditions.

D) can aggravate problems associated with lung T FTAT ATl
disease. D) st 1 AT & ST wweAre 1 a8 qohT 2

104) Nag wants to become an actor. Which of the ~ 104) AT STTH=T S9AT ATZAT 8| I o7 TF Tera
following traits is important for him to become a ATAAT a9+ o foru Feferfea & @ wie-e Eewar

professional actor? AEATT 57

A) Nag should be a swift runner A) T T O ITEAT AT ATRT

B) Nag must not be afraid of blood B) AT &I G & A%! TLAT AU

C) Nag should be able to convey emotions C) AT [ ATAATSAT I <h FLA § TAH AT AT
D) Nag should be scientific in approach D) AT T TS0 S=ATIF g1 ATRT
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105) Digital technology has resulted in great 105) FRfSTee FR=ITRIET % LT AT & I ATET
business opportunities but it has also increased the 3T gu & wfehe z&e T==T geaT o forw oft f=iar sy <F
concern for information security. Emerging trends &1 \TZa< I % 39T &A1 § Aofofaa § 9

of cyber-crimes include which of the following? F- TR §2
a) Hacking a) gfr

b) Snatching b) &f=mT

c) Phishing c) foforT

d) Pickpocketing d) forergterteT
e) Identity theft e) e fedt g%
A) a, b, candd A) a, b, c3iTd
B) b,cand d B) b, c 3w d
C)a,cande C)a,cdiTe
D)c,dand e D)c,dsfiT e

106) The British rule in India was based on ‘divide ~ 106) sTea | Taifeer orme= "B STAT < 0T F0' AT
and rule’ policy. It was the greatest setback to T 9% s AT 9 T v & o ag

India’s national integration. All of the following T FT FeHT AT Ffred =9 T # SIgh< s
practices of the British disturbed the Indian ¥ o= Tfy wTett F AT "ivETE agra ° faw
communal harmony EXCEPT: ST

A) They created a difference between Hindu and A) TR o 3 e v fig e e F A
Muslims on the basis of religion. ST feT

B) They created differences between rich and B) St s, wrefor-oredy, 3g-Fre =it 5 A=
poor, rural and urban, upper and lower classes.

FIUTIITE a7 f7|
C) They encouraged linguistic differences, C) TRt AT WerdyE, AR, ST
communalism, casteism and regionalism. Sy=yaTT A lel%d o

D) Resentment against their policies created D) 3T it 3 et amver ¥ a<ft et

among all Indians a feeling of unity and frr AT T T T 7T
harmony.
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107) It has been reported that blind commuters in
metro trains often miss their stops and face great
inconvenience to retrace their paths. In which of
the following ways can such problems be resolved

by the authorities concerned?

A) Provide audible ‘next stop’ announcements to

facilitate blind passengers onboard.

B) The authorities must immediately prevent blind

passengers from using trains independently.

C) Provide audible ‘next stop’ announcements at

the stations for passengers’ benefit.

D) The authorities must provide special trains with

escorts to all blind passengers.

108) Mary got through several rounds of the hiring
process to manage the quality assurance team in a
leading software company. The job required
international travel once in three months. She
wanted to be upfront with her employer so she
informed them that she was three months
pregnant. The interview panel was very pleased
with her answers but decided against her selection
in spite of her assurances that she will take a

minimum parental leave, because she was

A) pregnant
B) inefficient
C) inexperienced

D) complicated

107) g 93T AT g T3 7l oAl | F5aa AT T
A TT § AL F TF I & T T 09 7R H
FTTH A & foIT T=T At FT 91 Fd 5
Hatera Attt gy Ut aaears #if Fefofag 7 9
e a8 & g1 T ST geRar 22

A) 3 H FErg vt £ g F o srrer e
#FY T TUATE T FLU |

B) srfersrTfiat &1 qid A=gid AT T Tas &7 F
AT T ITTRT FA F AT AT

C) ATt o T o forT TEomMT U 'SRTAT T ¥ A=
FIIATY ST FLTU|

D) srferTieat g st A== ITEET FT UehicH &
T AAT A ISy FLATET AU

108) &L T, T VT FATFEAIT FOHT | FTierar
TYARE S T e e F forw et gfekam & #2
& HTEAH & THAdT THeAT| TH AR & forw i 7ge &
T AT FTLET ATAT T ATFTLAFHAT AT gl T8 I
TITRT T 98T & 9T A7 Argdr ot TaferT 399 3w
g T 1 ag o1 gt 6 THadT g arearane
T I8 I & Tgd G 9T, AThed I8 APATET &
AR [ a8 U <IAqH Gee o1 I, FAT AT FFqAT

3O+ faeg o, =it ag

A) TeadT ot
B) sreqs off

C) sIqwagi ot
D) Stfeer oft
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109) Child custody is the most important problem
faced by the couple who seek a divorce. Normally
under such circumstances the court decides on the

basis of

A) the father's position

B) the mother's position
C) the lawyer's arguments

D) the best interests of child

110) David forged his brother's signature on the
business documents and cheated him of a huge
amount of money. In which of the following ways
could David's brother prevent himself from being

cheated?

a) Setting up separation of duties and dual controls
within his own business

b) The owner should take care of signing all checks
and approving all transactions

c) Creating a system for keeping check books
secure

d) Develop a complex signature with numerous

changes of handwriting
A)aandb

B) a,b,candd
C)candd

D) b, cand d

109) TATE I AT UAT & ATHT o FT Feee| gae
AEAT0T qHET gl AT 9% UHT qRfRafai & darera
AT 30 A 92 i St §

A) o fir feafa

B) @t &t fRufa

C) Tfrer i Zefiet
D) g &1 4w fga

110) fare T ATIATRE TEaTasIl U< I 9T F SreAT
gEareA T T S| AIET TR & T il SET & 9T
7 feferfaa § & e aded | & &0 330 S 8 6172

a) I FAATT § FTHI AT AL HIAV I M-
Fh

b) HTTere &l THT =l 9T ZEATAT FeeA 3T AT AAAT
T T a7 AR

C) = AT H qIierd v@d & o uw fEeew aqmr
R

d) foramae # &2 Fgardl & a7 Us Sied geare? wied
LAY

A) a3 b

B) a, b, c 3T d

C)cwd

D) b, c 3T d
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Section 6 - | Q Test

111) Which is the odd one out among the four
options?

A) &300#

B) &200#

C) &400#

D) &TOO#

112) Arrange the name of the geometrical figures
given below in the ascending order of the number

of sides that they have and select an option.

1. Straight line
2. Pentagon
3. Square

4. Octagon

5. Decagon

A)12345
B)32451
C)13245
D)31245

113) Which of the following options will make the
second pair analogous to the first pair given as:

Sleep : Insomnia :: Memory : ?

A) Haemophilia
B) Alzheimer's
C) Diabetes

D) Ischemia

111) =X faseat § 7 fouw & 41 g2

A) &300#
B) &200#
C) &400#
D) &TOO#

112) = & T2 TR ArFAAT F AT FT I
[STT3A sl AT % AR Mgl HF H AAAT F foFwed FT
ERREETY

1. ITT TGl
2. 9=l
3.4

4. TEAS
5. 9T

A)12345
B)32451
C)13245
D)31245

113) Feferfad = faFedt & & #19 a7 fFweT gadr
STTET 0 Tgell SISt o TH&T aeTuiT:
dig: sfqgr cwfa: ?

A) ST
B) sewT=HE
C) Tafad
D) gehitaaT
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114) Instruction: The below table gives the 114) f9ger: F=r <7 T2 ATrHT, AT-SRT TR Tare ¥
population of two cities A and B in different time 3T 9E A 3T B Y SHEAT aardy g1 & T SRt
periods. From the information given, answer the T, = RT wr #1397 2

question given below.

Years Population of City | Population of City i TR A BT orTHe e B &l Wi THE
A (in 1000's) B (in 1000's) (1000 ) (1000 ¥)

1870 45 59 1970 45 59

1880 50 63 1980 50 63

1990 54 67 1990 54 67

2000 62 75 2000 62 75

2010 70 82 2010 70 82
The ratio of population of city A to population of city fAeferfed & & o a1 § org B it sreer £ ol
B is greatest for which of the following year?  ore¥ A T SIEEAT AT AT HaE STTET 872
A) 1970 A) 1970
B) 1980 B) 1980
C) 2000 C) 2000
D) 2010 D) 2010

115) In a certain code, if GATE is coded as ETAG, 115) U# fa9w #I ¥ afs GATE & ETAG ¥ &Y

then what will be the code for ROAD? H #re AT STar g, @ ROAD o e /1 gimm?
A) DAOR A) DAOR
B) DARO B) DARO
C) DORA C) DORA
D) DORO D) DORO

116) A child which was facing east direction turned 116) T agT ST I& f39TT & =T, a8 =TT #hr foora faem
400 degrees in the anti-clockwise direction and H 400 =31 o< fohe ==t ot faarm # 220 =3 g=ar 2
then 220 degrees in the clockwise direction. Which g 31& foher faerm & 872

direction is he facing now?

A) East A) @
B) West B) uferw
C) North C) 3%
D) South D) =feror
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117) If the day before yesterday was Sunday, then 117) If &q a&i &1 faq Tf=E@m® o, ar &1 & 100

what day will it be after 100 days from today? & are #i= =7 fam grm?
A) Sunday A) TEET™

B) Tuesday B) AT

C) Thursday C) TrATT

D) Friday D) RICCIES

118) If day after tomorrow is Monday, then what 118) oIfe 9¥&T HIHaTE 8, a7 o<t & 15 fa &g & &7

day will it be after 15 days from today? T e
A) Thursday A) &
B) Friday B) aHaTT
C) Saturday S EUGELES
D) Sunday D) Tfaamr

119) 3 times a number added to four times 50% of ~ 119) f&T H&AT FT 3 I[AT, IHT H&AT & 50% F AT AT
the same number is 200 more than the number. H T 9% 39 §&A7 & 200 SATerF Frar g1 TeAT Hhi =Y

Which is the number? g7

A) 20 A) 20
B) 50 B) 50
C) 100 C) 100
D) 150 D) 150

120) Which of the answer figures will complete the  120) 9 #H 3T MFHd q9AT MHfd & & T
figural series given in the problem figures? STHIAT T @AT I T FIAT?

Problem Figures Answer Figures m \}Wﬁ[ W G"Tﬁl

(@)O /ﬂg ( o\ W 60\)6} (E\g(%” L 0l a0l a0m0 (@‘\JO
00/ MU 9 10 MR lU) )) {0) oMl 0ploloolo
YUl JYNGPRYV A Tlololl o olol 2 [t)oltllGolol

0 0106180 Y ) % UOO " (igé %Q‘ ade

AbB C D AB C D

A) A A) A

B) B B) B

c)C Cc)C

D) D D) D
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121) While calculating the average of 20 distinct
two-digit numbers, Tina copied one of the numbers
in reverse order, due to which the average
obtained was smaller than the actual average by
3.6. What is the difference in the digits of the
number?

A) 36
B) 8
C)4
D) 16

122) What comes in the place of question mark in
the given series?

NOM, QRP, TUS, ?

A) HTU

B) WXV

C) WAX

D) WVX

123) Heena is the daughter of the brother of Ravi's
father Mahesh. Vikram is Heena's brother. How is

Vikram related to Mahesh's mother?
A) Son

B) Brother

C) Nephew

D) Grandson

124) Which of the answer figures will complete the

figural series given in the problem figures?

ProblemFigures Answer Figures
+ ? i i FDHE
A R G D
A) A
B) B
C)C
D) D

121) 20 faferg a7-3ihar HeaTai & Sfea i ToET FLd
g0, EAT 7 U HeAT i aw AT § 99 A, Sreen
LT T SEd ATEq Ak i o 3.6 F9 AqT| AT
T § T HAT 872

A) 36

B) 8

C) 4

D) 16

122) & T2 HEar § w7 =T & T 9 F+T A0?

NOM, QRP, TUS,?
A) HTU
B) WXV
C) WAX
D) WVX

123) T2, T & foar wger % ar$ & 3 g faww fBar
=T WS 5| Tahe 3T wger &t A7 % o= 47 fear 872

A) 3T
SIS
C) sretsTT
D) TraT

124) FIT T IT AHIT THET SAHIT | & T2 AR
FT JE@dT FT T FG?

R

?
A) A
B) B
C)C
D) D
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125) Which is the odd one out among the four
options?

A) A#M

B) L#P

C) U#Y

D) #KJ

126) What comes in the place of question mark in

the given series?
ATS, CUT, EVU, ?

A) KWV
B) HVW
C) GWV
D) FHG

127) A dog runs 20 m towards south direction. It
takes a left turn and runs for 10 m. Again it turns
right and starts running. Which direction is the dog

facing now?

A) East

B) West

C) South-west
D) South

125) 9T oot & & fauw #9182

A) A#M
B) L#P
C) U#Y
D) #KJ

126) & T2 HEar 9§ w7 == & T 9% F+T A0?

ATS, CUT, EVU, ?
A) KWV

B) HVW
C) GWV
D) FHG

127) Ue Tt Fterr faer #F A 20 Hex AnTar gl
g AT AR AT g 31T 10 Hiex wrrar g1 6T ag el
AT AT g AT IS AT gl Fa1 o7 Fohe e & 272

A) T

B) afarw

C) =feror-ufiry
D) aferor
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128) Arrange the words given below in the
heirarchy of the positions that they have in an
organization.

1. Assistant Manager

2. Manager

3. Deputy General Manager

4. Senior Manager

5. Chief Executive Officer

A)12435
B)23145
C)13245
D)21354

129) If Sam means Ben, Ben means Jam, and Jam

means Ren, then what does Ben mean?
A) Sam
B) Jam
C) Ren
D) Ben

130) In a certain code, if ORDINARY is coded as
ROIDANYR, then what will be the code for
PERFECTION?

A) QFSGFDUJPO
B) EPFRCEITNO
C) QFSGUDOPJ
D) EPFRECNTO

128) == faw T ersal T et FreA § 39 TRl *
ATHA § TATRIT F

1. FgTIF Tdeh

2. JaeH

3. 3T HETIAgF

4. T JTGTH

5. =T FIAHTL ATRTT

A)12435
B)23145
C)13245
D)21354

129) T Sam %71 79 Ben g, Ben 7 3% Jam g, Jam
T 32 Ren &, a7 Ben &1 7 379 72

A) Sam
B) Jam
C) Ren
D) Ben

130) 7f& ORDINARY #T ROIDANYR % &7 & Faaz
32T STTaT &, AT PERFECTION 3 forw /4 #re 2rm?

A) QFSGFDUJPO
B) EPFRCEITNO
C) QFSGUDOPJ
D) EPFRECNTO
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Section 7 - Reasoning Ability

131) Among the given group of 4 images, which set 131) RT 77 4 =1 % |9 & & == & FH-9 9 &

of images can be classified as a group? U 9Hg % & H A (ha [hAT ST Tl 572
1 2 3 4 1 2 3 4

A) (1, 2, 3) A) (1,2,3)

B) (1, 2, 4) B) (1, 2,4)

C)(1,3,4) C)(1,3,4)

D) (2, 3, 4) D) (2,3,4)

132) Which of these pair of figures CANNOT join ~ 132) U& HHTAY AT 9T & (o0 =40 & e s

together to form a parallelogram? ¥ SIS T THATT STST Al ST qohaT?
A) Two trapeziums A) =T THET

B) Two parallelograms B) &1 FHIAY AqHS

C) Two triangles C) = T

D) Two circles D) ar g

133) A paper sheet is in the form of a shape given  133) 1= U# Hfd & &7 § UH o< offic < T g1 TH
below. It is cut along the given dotted line(s) inthe &RT T oI FA & EHa@ @T(3A) F a1 FHMEGL |
sequence as mentioned. How many edges would ~ &TeT SITAT gl &< ST & 18 TROTHT 992 offe & fhae

the resultant paper sheet have, after the cuts? AT BIRr?
3 2 - —
-
~. I ~1
1
\ ~
A) 12
B) 13 C) 14
C) 14 D) 16
D) 16
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134) Dolly is taller than Chandra and Farah. Anand 134) St i ST =& 3T Fig o SATT gl AHE

is shorter than Farah, Chandra is taller than Anand. #T $=TS w18 & FH 8, F&T 6l HATS A T JAF 2|
Dolly is shorter than Bharat. Who among them is ETeT #it $ATE ¥ & FH g1 TTX 5T HT HATS T8
3rd tallest if Chandra's height is 6 cm more than #Y 3=TE & 6 Tt stfers 8, a7 T8 | i 19T a9

Farah's height? F=T =t 87
A) Farah A) 118

B) Anand S EIGES

C) Chandra C) =T

D) Dolly D) sieft

135) Identify the figure that completes the visual 135) 39T F@AT H T FHLA ATeAT ARG Fl TgA

series. o
KA R WEE S
A) A A) A
B) B B) B
C)C c)c
D) D D)D

136) P is the father of K. J is the niece of X. R is 136) P, K =T f9ar g1 J, X #if @St g1 R, J #iT &7 g
the mother of J. K is the brother of X. P has only K, X T 915 g1 P % #a« a1 a9 3| Feforfea § & f
two children. Which of these statements is TRUE? & %3 dgt 27

A) X is the sister-in-law of R A) X, R #T &1t 21
B) X is the brother of K B) X, K &T 9T 2l

C) P is the father of X C) P, X &7 foar 1
D) X is the uncle of J D) X, J =T HTHT 2l
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137) Which of the given option will NOT share the
same property as the elements of the given

set: (67, 71, 59, 97, 89)?

A) 47

B) 43

C) 37

D) 39

138) Two trains running in the same directions
cross a man standing on the platform in 15
seconds and 25 seconds respectively and
they cross each other in 18 seconds. The ratio of

their speeds is
A)31:2

B) 43:3
C)34:3
D)7:3

139) Rohit, Rohan and Rani are three friends
standing in a queue to pay their fees in the
administrative office. Rohit stands 9th from the
beginning of the queue. Rani is 14th from the end.
Rohan and Rani have 4 students between them
and Rohan and Rohit have 5 students between
them. If Rani is in 20th position from the beginning,

then Rohan's position from the end of the queue is
A) 24th

B) 19th

C) 18th

D) 9th

137) w== fasedt § | F=-a7 faweq fTu o

qZ 1 (67, 71, 59, 97, 89) 3 Al STET I[UT T ATAT AT
FT?

A) 47

B) 43

C) 37

D) 39

138) U oI faerm & STt g2 &T o Tehid % @8 Uh
ZIfXF FT FTM: 15 Fehe ST 25 Fohe § ITC FLAT 8 307
T UH THY AT 18 Fehe H T HTAT &1 ST I T
EREIEE

A)31:2
B) 43:3
C)34:3
D)7:3

139) TR, g 3T T d 1 Zeq TATH AT HATAT
H 3o I F T o forw war § @2 81 AT Fware
F A AT 9 AT g I WET g TAT o & 14 A g

IT g1 T AT T F S 4 T 3 307 T e Afga
F S 5 I 81 3L TAT M 7 20 = SFrg 9 8, v

FATL T 3T F U HT I 8

A) 24t
B) 19af
C) 18at
D) 9at
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140) Virat scored 150 runs including 11 sixes and ~ 140) 11 g ¥ 5 13T Gfgd [A0e 7 150 ¥ F49TT)
5 boundaries. What percent of the total score did e T o T8 IHeh e Th1T T TTAQd F4T a7?2

he make by hitting sixes?

A) 62% A) 62%
B) 50% B) 50%
C) 44% C) 44%
D) 39% D) 39%

141) Identify the figure that completes the visual 141) F97 GAT Tl TIT FIA ATAT ATFIA Hl TgATT
series. s

= =P Y
v+ (24] (4 +] [(24] (4

1 2 3 4 . Z g *
A) 1
A) 1 B) 2
B) 2 )3
C)3 D) 4

D) 4

142) Identify the figure that completes the visual 142) F9F AT Tl T FIA ATAT ATFIA ol TgATT
series. o

: % t ) 1 2 3 4
A) 1 1
B) 2 5 2
C)3 & 3
D) 4
D)4
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143) A dice is taken. Numbers from 1 to 6 are
written on its faces. The faces with numbers 1 and
4 are adjacent to each other. Number 6 is on the
face opposite to the face with number 3. Number 2
is not on the face opposite to face with number

4. Which of these numbers would be opposite to
number 27?

A1l

B) 4

C)5

D) 3

144) Select one of the following four options that
will make the second pair analogous to the first

pair.

PARROT : GREEN :: CROW : ?
A) YELLOW

B) RED
C) BLACK
D) WHITE

145) Select one of the following four options that

143) U qTET o AT 1 1 T 6 T it G0 39
FeAh! g% TordT STt g1 HEAT 1 37T 4 AT FAd UH-gHY
F Aferhe g1 HEAT 6 ATAT Heleh AT 3 AT Feleh
T & 81 19T 2, "5t 4 9T B o AT 98t )
TH TEATS § F FHIA-HT 747 2 F I g1 dedt 272

A) 1
B) 4
C)5
D) 3

144) Faferfea = Beedt § & 3T F99 it S
THLT STTET T TgaT SISt o T&d a=Tua|

AT 2 B2 T3 2 2
A) fi=T
B) AT
C) FTeT
D) %%

145) oo = Awedt § & 91 999 Sty s

will make the second pair analogous to the first FEII STIET T T@ell SIS & SATET AT

pair.

Library : Books :: School : ?
A) Newspapers

B) Students

C) Buildings

D) Laboratory

TEqRTAY ; e - ey ?
A) FHTET 95

B) &

C) zaTLd

D) YTITeT

Page 41 of 43

Downloaded From : www.sforstudy.in



Downloaded From : www.sforstudy.in

SetID : 13B Jail Warder, Constable Mounted Police and Fireman_20-12-2020 Batch01 (10 AM to 12 PM)

146) Ruby knows that her father's age is more than 146) =T STT=dt g T 38 faar &t 37 55 7 afer g,
55 years but less than 57 years. Ruby's mother SRt 57 a9 | H g FT ol AT ol A1 g o6 3T Ifa
remembers that her husband's age is more than #T 3 57 & AT g, AT 60 9 & FH gl T, ST

57 years but less than 60 years. Rohan, who is w1 T TET TS 2, AT & 6 5o+ ar frsg 58 7
Ruby's elder brother knows that his father's age is 313 g, e 64 a0 & 7 21 3T Fael T1 6T AT 3T
more than 58 years but less than 64 years. If only TS T @&t 74T g, a7 ®aT & foar Fhaw &7t F 872

Ruby's mother and brother know it right, then what

is the age of Ruby's father in years?

A) 59 A) 59
B) 58 B) 58
C) 57 C) 57
D) 55 D) 55

147) Which number replaces the question mark (?) 147) = €t T sf@aT & w51 =g (?) F1 SR1E i |7

in the series given below? HEIT 872
2,1,0,-3,-24,7 2,1,0,-3,-24,7
A) -264 A) -264
B) -267 B) -267
C) -270 C) -270
D) -273 D) -273

148) Three out of the four options are similar based 148) FUHTAT & T & A4 T, 70 10 = fAsheut
on the position of alphabets. Find the odd one out. & & T1= T S g faww Ao & FHT)

A) TUF A) TUF
B) YZA B) YZA
C) WVJ C) WvJ
D) OPK D) OPK

Page 42 of 43

Downloaded From : www.sforstudy.in



Set 1D : 13B

Downloaded From : www.sforstudy.in

Jail Warder, Constable Mounted Police and Fireman_20-12-2020 Batch01 (10 AM to 12 PM)

149) A figure is given on the left with a pattern.
Observe and find which of the three images on the

right looks similar to the right half of this pattern?

,—) -
ANy
ol I
7 ' k! R
1 ) )
A) 1
B) 2
)3

D) Both 2 and 3

150) Sachin's age 5 years ago was 1/2 of his age
10 years hence. What is the present age of

Sachin?

A) 36 years
B) 25 years
C) 20 years
D) 15 years

149) Tt 3T U T2 F AT Uk ATH(T o7 TE g
ATATAS 2190 i Farsv & el A F T A 7 7
T 26 Fedt % 210 3G 2ed & au fRErs g=ar 2

- -
T/l—> N l_, 4
o 1 11 X
T \
7 7 7 R/

1 2 3

A) 1

B) 2

C) 3

D) 2 &iiT 3 T=T

150) 5 AT Tge af=d Al 39 10 A 91E gHaTAl 39
#T Vo off| FTATT § A= 6f 39 fha«t g?

A) 36 T
B) 25 |1
C) 20 &
D) 15 |7
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